
SUBJECT: MATHEMATICS 
Differentiation Application of differentiation, 

Definite Integrals 

1. The area in square units bounded by the curve y=x3,y=x2 and the 
ordinates x=1 and x=2 is 

1) 17/12    2) 12/13    3)2/7     4)7/2 
 

׬ .2 cos .ݔ ݁ୱ୧୬ ௫
ഏ
మ

଴ ݔ݀ ൌ 

1)0 2)1      3)‐1      4)e‐1 
 

3. The max. value of sin x + cos x is 

1)√2                  2)െ√2              3) √3      4)2 
 
 

4. If  y=tanିଵ ൤√ଵା௫మି√ଵି௫మ

√ଵା௫మା√ଵି௫మ൨ then y1= 

1)
ଵ

√ଵି௫ర    2) ିଵ
√ଵି௫ర    3) ି௫

√ଵି௫ర    4) ௫
√ଵି௫ర   

 

5. The area of the figure bounded by the curves y=cos x & y=sin x &  
the ordinates x=0 & x=

గ
ଶ
 is 

  1)√2 െ 1    2) √2 ൅ 1    3)
ଵ

√ଶ
 ൣ√2 െ 1൧                4) ଵ

√ଶ
 

   

׬ .6 ݔ| ൅ ହݔ݀|2
ିହ  = 

1)15  2)40      3)29    4)10  



 
 

7. For the curve yn=an‐1x, the subnormal at any point is constant. The 
value of n must be 
1)2    2)3    3)0    4)1 
 
 

8. If y=a cos[log x], then x2y2 +xy1= 
1)y    2)‐y    3)1    4)‐1 
 
 

׬ .9 ௫ ௗ௫
ଵାୱ୧୬ ௫

గ
଴ = 

1)
గ
ଶ
 ߨ(2                            none(4                 ߨ 2(3

 
 

10. The area of the region bounded by x=a cosθ, y=a sinθ  is 
 a2ߨ2(1     a2ߨ(2    aߨ2 (3      aߨ4 (4
 
 

11. if  y=1‐x+ ௫
మ

ଶ!
 ‐ ௫

య

ଷ!
 + ‐ ‐ ‐ ‐  then y2= 

1)x    2)‐x    3)‐y    4)y 
 
 
 
 

12. The max. value of the function f(x)=ݔ
భ
ೣ is 

1)
ଵ
௘
    2) ଶ

௘
    3)e    4)݁

భ
೐ 



 
 

׬ .13 √ସି௫
√௫ା√ସି௫

ଷ
ଵ ݔ݀  ൌ 

1)0      2)2    3)2    4)1 
 
 

14. The area of region bounded by x=a cosθ  &y=b sinθ is 
1)2πab     2)πab    3)4πab    4)none 
 
 

15. The area of region bounded by  x=aቂଵି௧మ

ଵା௧మቃ y=a ቂ ଶ௧
ଵା௧మቃ is  

1)2πa2    2) πa2    3)2 πa      4) πa 
 
 

16. The angle of intersection of y=x[x2‐4] & the x‐axis at (2,0) is 

1)tanିଵ 8          2) tanିଵ 4                  3) tanିଵ ଵ
ଶ
  4) none 

 
 

17. If the tangent at (1,‐2) to the curve y=1+ax‐x2 is parallel to x‐
axis than a= 
1)‐2       2)2      3)1    4)‐1 
 
 
 

׬ .18 ݃݋݈ ቂଵ
௫

െ 1ቃଵ
଴  dx= 

1)1       2)0      3)2    4)none 
 



19. If x=
ଵି௧మ

ଵା௧మ  y=
ଶ௧

ଵା௧మ   then y1 =  

1) ‐ ‐
௬
௫
     2) 

௬
௫
       3) െ ௫

௬
      4)  ௫

௬
 

 

20. If 2x + 2y = 2x+y, then the value of 
ௗ௫
ௗ௬
 at x=y=1 is 

1)0     2)‐1    3)1    4)2 
 
 

׬ .21 ୪୭୥ሾଵା௫ሿ
ଵା௫మ ଵݔ݀ 

଴  

1)π/8    2)π/8 log2   3)log 2    4)none 
 
 

22. On substituting x=sin t, ׬ sinିଵ ଵݔ݀ݔ
଴  becomes  

׬(1 ݐ cos ݐ݀ ݐ
ഏ
మ

଴ ׬ (2      ݐ݀ ݐ
ഏ
మ

଴         ׬ (3 ݐ cos ଴ݐ݀ ݐ
ഏ
మ

    4)none 

 
 

23. If 2x2+4xy+3y2=0, theny2=   

1)0       2)1/2     3)
ଵ

ሺଶ௫ା௬ሻమ      4) 4/3 

 
 

׬ .24 sin ቂ௘ೣିଵ
௘ೣାଵ

ቃ୪୭୥ ଶ
ି୪୭୥ ଶ dx =   

1)cos(1/3)    2)0      3)2cos2    4)none 
 
 

25. If y=tanିଵ ୱ୧୬ ௫
ଵାୡ୭ୱ ௫

  , then y1 = 

1)3/2     2)1/2     3)2      4)1/3 


